4.000 m
1.000 m

) 0.100

) 7

kN/m?
1 0.000 | 0.000 5.00 0.000| 0.000| 0.000| 0.000
2 1.000 | 0.000 1.000 | 0.000| 1.000 | 0.000
3 3.000 | 1.000 5.00( 3.000] 1.000| 3.000| 1.000
4 4.000 | 1.000 4500 | 1.000 | 10.000 | 1.000
5 7.000 | 3.000| 10.00| 7.000| 2.000
6 10.000 |  3.000 10.000 | 1.600
;
8
9
10
(4.000)
(3.000)
(2.000)

5.926

(1.000)
0.000
1.000
2.000
3.000
4.000

5.000
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® o ° k ¢°
kN/m? m m
(3.000) 7.060
(1.570) 1.430 30.0 15.0 0.000 0.100 | 51.576 1.134 5.926
(1.000)] 0.570 0.0 15.0 | 20.000 0.100 | 43.694 0.597 5.329
0.000/ 1.000 30.0 15.0 0.000 0.100 | 51.576 0.793 4.536
1 1.000, 1.000 30.0 15.0 0.000 0.100 | 51.576 0.793 3.742
2 4.000| 3.000 15.0 | 20.000 0.169 | 38.716 3.742 0.000
3
4
5
6
7
8
9
10
. 1 .
Z = tan? [ . . +i
. ..V (cos(j+6 +8 ) sin(@ +0 ))
tan(p +0 +j - i)tsec(@ +6 +j-i 7 (cos(-i) sin(@ -i-6 )
0 =tan-1k 0 =tan-1k”
_ 2y 2
0
¢ \/ 1 2C
L ¢
Y
y (kN/mY)  Am? t(kN) q(kN)
18.00 1.26 22.61 10.60
16.00 0.24 3.79 0.00
18.00 2.93 52.78 0.00
79.18 10.60 (kN/m?)
BEEEEEEER
A A
Hw
/ A4
(79.18  10.60 )/ 4.536 H =
19.79 kN/m?

m)




